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Extra Practice 2 – Master 2.19

Lesson 2.2

1.
a)
+4; 0; –4; –8;




(+4) × (–3) = –12




(+4) × (–4) = –16




(+4) × (–5) = –20


b)
+5; 0; –5; –10;




(–3) × (+5) = –15




(–4) × (+5) = –20




(–5) × (+5) = –25

2.
a)
The product of two integers is positive when the integers have the same sign.


b)
The product of two integers is negative when the integers have opposite signs.

3.
a)
–18
b)
+12


c)
–14
d) –12


e)
–1
f) 
+25

4.
a)
+330
b) –860


c)
+918
d) –682


e)
–1206
f) 
1612

5.
a)
+3 and +6; the greatest product will be a product of two numbers with the same sign and largest size. So, it will be (+3) × (+6) = +18 or (–2) × (–8) = +16.


b)
+6 and –8; the least product will be a product of two numbers with opposite signs and largest size. So, it will be (+6) × (–8) = –48.

Extra Practice Sample Answers continued

Extra Practice 3 – Master 2.20
Lesson 2.3

1.
a)
+5
b) –3
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c)
–8
d) +5
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2.
a)
+9
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b)
–4
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c)
–1
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d)
+3
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3.
6 m

4.
The stock drops an average of 6 points per day.

Extra Practice 4 – Master 2.21
Lesson 2.4

1.
a)
–8
+4



–15
–3



+6
–2



+18
+3


b)
The rules are similar. The sign of the product of two integers with the same sign is positive and the sign of the quotient 
of two integers with the same sign is positive. The sign of the product of two integers with opposite signs is negative and the sign of the quotient of two integers with opposite signs is negative.


2.
a)
The quotient of two integers is positive when the integers have the same sign.


b)
The quotient of two integers is negative when the integers have opposite signs.

3.
a)
+10 
b)
–8


c)
–8 
d)
+7


e)
0 
f)
+1

4.
a)
–5 
b)
+3


c)
–3 
d)
0


e)
+1 
f)
–4


–5, –4, –3, 0, +1, +3

5.
–2°C

Extra Practice 5 – Master 2.22
Lesson 2.5

1.
a)
36; Multiplication


b)
–20; Addition inside brackets


c)
–2; Subtraction inside brackets 



d)
4; Division

2.
a)
4(–8) – 9 



= –32 – 9 



= –41


b)
(–1) + (–20) ÷ 5 



= (–1) + (–4) 



= –5


c)
(–9) + (–4)(–2)



= (–9) + 8



= –1


d)
(–3)[(–8) – 11]



= (–3)(–19)



= 57

3.
a) –7
b)
–2


c)
1
d)
–6

4.
a)
–20
b)
–1


c)
3
d)
–8

5.
a)
–11; 12 ÷ [(–4) + (–8)]


b)
–7; [(–9) + 6] ÷ 3


c)
1; 5 ÷ (–5) × [0 + 1]
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